MIAMI-DADE COUNTY, FLORIDA
PRODUCT CONTROL SECTION

BUILDING AND NEIGHBORHOQOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208
BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474

T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building

WinDoor, Inc.

7500 Amsterdam Drive

Orlando, FL 32832

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County
BNC-Product Control Section to be used in Miami—Dade County and other areas where allowed by the
Authority Having Jurisdiction {AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (in Miami-Dade County) and/ or the AHJ (in areas other than Miami-Dade County)
reserve the right to have this product or material tested for quality assurance purposes. If this product or
material fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and
the AHJ may immediately revoke, modify, or suspend the use of such product or material within their
jurisdiction. BNC reserves the right to revoke this acceptance, if it is determined by Miami—Dade County
Product Control Section that this product or material fails to meet the requirements of the applicable
building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
inciuding the High Velocity Hurricane Zone,

DESCRIPTION:
Series “V—600/ V-630 Single and Integral Mulled” White PVC OS Casement Window — L.M.I,

APPROVAL DOCUMENT: Drawing No. 08—01122, titled “Series V—600/ V=630 PVC Single and
Integral Mulled OS Casement Windows — LMI”, sheets 1 through 09 of 09, dated 10/20/10, with the latest
revision “A”, dated 02/14/11, prepared by manufacturer, signed and sealed by Luis R. Lomas, P. E., bearing
the Miami—Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Section,

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a pérmanent label with the manufacturer's name or logo, city, state,
model/ series and following statement: "Miami~Dade County Product Control Approved", uniess otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA, Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E~1, as well as approval document mentioned above.
The submitted documentation was reviewed by Jaime D. Gascon, P. E,

NOA No. 10-1223.03
W’d\ Expiration Date: May 12, 2016

6. Approval Date: May 12, 2011
% AN Page 1




WinDoor, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1. Manufacturer's die drawings and sections.

2. Drawing No 08-01123, Sheets 1 through 09 of 09, titled “Series V-600/ V-630 PVC
Single and Integral Mulled OS Casement Windows — LMI”, dated 10/20/10, with the
latest revision “A”, dated 02/14/11, prepared by manufacturer, signed and sealed by
Luis R. Lomas, P, E.

TESTS
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of series V-630 vinyl
outswing casement windows, prepared by National Certified Testing Laboratories,
Test Reports No.’s NCTL-210-3675-1 and NCTL—-210-3675-3, dated 07/23 and
07/30/10, both signed and sealed by Gerard J. Ferrara, P. E.

CALCULATIONS

1. Anchor verification calculations and structural analysis, complying with FBC-2007,
dated 10/20/10, prepared, signed and sealed by Luis R. Lomas, P. E.
Complies with ASTM E1300-04

QUALITY ASSURANCE
1. Miami-Dade Building and Neighborhood Compliance Department (BNC).

MATERIAL CERTIFICATIONS

1. Notice of Acceptance No. 10—0413.04 issued to E.I. DuPont DeNemours & Co., Inc,
for their “DuPont Sentry Glass® Interlayer” dated 05/26/2010, expiring on
01/14/12.

2. Notice of Acceptance No. 08-0620.10 issued to VEKA, Inc. for “PVC Extrusion for
Assembled Doors & Windows” dated 08/07/08, expiring on 03/04/12.

STATEMENTS

2, Statement letter of conformance, no financial interest and compliance with the FBC-
2007, dated October 20, 2010, signed and sealed by Luis R. Lomas, P. E.

3. Laboratory compliance letter for Test Reports No.’s NCTL~210-3675-1 and
NCTL-210-3675-3, issued by National Certified Testing Laboratories, dated
08/12/10, both signed and sealed by Gerard J. Ferrara, P. E.

4, Proposal No. 10-0620 issued by BCCO, dated February 04, 2010, signed by Manuel
Perez, P. E.

OTHERS i
1. None. y .

v Jaime D, Gnscoﬁ?P. E.
Product Control Section Supervisor
NOA No. 10-1223.03

Expiration Date: May 12, 2016
Approval Date; May 12,2011



REVISIONS

REY DESCRIPTION DATE APPROVED

A | PER DADE CO. LETTER DATED 1/25/2011 | 02/14/11 R.L.

73 1/4" MAX. MULLED FRAME WIDTH

3" MAX. —]
» 0 W NOTES:

\ 13" MAX. |2 MAX. - 3" MAX. ) 1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH

67 MAX. —‘—" 0.C. TYP. ’* A ’-—*— 6" MAX. REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING THE HVHZ,
3 | 2) WOOD FRAMING, 2X BACKED STEEL FRAMING AND MASONRY OPENING TO BE DESIGNED

: AND ANCHORED TO PROPERLY TRANSFER ALL LOADS TO STRUCTURE. FRAMING AND

6" MAX MASONRY OPENING IS THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF

- RECORD.

\% 3) 1X BUCK OVER MASONRY/CONCRETE IS OPTIONAL. WHERE 1X BUCK IS NOT USED

DISSIMILAR MATERIALS MUST BE SEPARATED WITH APPROVED COATING OR MEMBRANE,

]

_‘
AN

SEPARATION OF DISSIMILAR MATERIALS IS THE RESPONSIBILITY OF THE ARCHITECT OR
ENGINEER OF RECORD.

4) ALLOWABLE STRESS INCREASE OF 1/3 WAS NOT USED IN THE DESIGN OF THE
PRODUCT SHOWN HEREIN. WIND LOAD DURATION FACTOR Cd=1.6 WAS USED FOR WOGD

I
I
/ AN ANCHOR CALCULATIONS.
L 5) FRAME MATERIAL: WHITE EXTRUDED RIGID PVC.071" THICK.
\ SASH MATERIAL: WHITE EXTRUDED RIGID PVC.075” THICK.
62M;<2 6) UNITS MUST BE GLAZED PER ASTM E1300. SEE SHEET 4 FOR GLAZING DETAIL.
17 3/8" MAX. < | A SASH 7) APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED FOR THIS PRODUCT IN WIND
0.C. TYP. \ | ’ HEIGHT BORNE DEBRIS REGIONS.
64" 8) SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD BEARING SHIM. SHIM
6 57 21/32"| MAX. WHERE SPACE OF 1/16" OR GREATER OCCURS. MAXIMUM ALLOWABLE SHIM STACK TO
I MAX. FRAME BE 1/4".
N s D.LO. | HEIGHT 9) FOR ANCHORING INTO MASONRY USE 3/16" ITW TAPCONS WITH SUFFICIENT LENGTH TO
HEIGHT ACHIEVE A 1 1/4" MINIMUM EMBEDMENT INTO SUBSTRATE WITH 2 5/8” MINIMUM EDGE
C | DISTANCE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.
4 N yd | 10) FOR ANCHORING INTO 2X WOOD FRAMING, 2X BUCK OR 2X BACKED 20GA. STEEL
FRAMING USE #10 WOOD SCREW WITH SUFFICIENT LENGTH TO ACHIEVE A 1 3/8”
Yy // MINIMUM EMBEDMENT INTO SUBSTRATE WITH 3/4” MINIMUM EDGE DISTANCE. LOCATE
74 ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.
11) ALL FASTENERS TO BE CORROSION RESISTANT.
- 12) INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH ANCHOR
n MANUFAGCTURER’S INSTALLATION INSTRUCTIONS, AND ANCHORS SHALL NOT BE USED N
35 1/2" MAX. SASH WIDTH L 30 21/32" MAX. SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BELOW:
D.L.O. WIDTH A. WOOD — MINIMUM SPECIFIC GRAVITY OF G=0.42
B. CONCRETE — MINIMUM COMPRESSIVE STRENGTH OF 3,192PSI.
SERIES V-600/V-630 WHITE PVC INTEGRAL MULLED TWIN CASEMENT WINDOW C. MASONRY — STRENGTH CONFORMANCE TO ASTM C—90, GRADE N, TYPE 1 (OR
XX UNIT SHOWN, OX AND XO UNITS ARE APPROVED AS LONG AS INDIVIDUAL UNITS DO NOT EXCEED GREATER).
SIZES SHOWN HEREIN D. STEEL FRAMING: 2X BACKED 20GA. (.036” MIN.) STEEL FRAMING.
EXTERIOR VIEW 13) APPROVED CONFIGURATIONS: X, OX, X0, XX, XOX, OX0, XXO, OXX, XXX. ALL

APPROVED CONFIGURATIONS MAYBE LEFT HAND OR RIGHT HAND OPERABLE.
14) SERIES V—600 IS OPERABLE CASEMENT AND SERIES V—630 IS FIXED CASEMENT.

DESIGN PRESSURE RATING IMPACT RATING

LARGE SEE CROSS SECTIONS SHEETS 3 AND 4.
170PSF MISSILE IMPACT
TABLE OF CONTENTS ‘DV' 7500 AMSTERIDAM DRIVE
SHEET NO. DESCRIPTION NCIIISI)RE\)PII) ORLANDO, F1. 32832
INCORPORATE hone: dor 8 indooti
1 — 2 | ELEVATION, ANCHORING LAYOUT AND NOTES Approved as comlying with the P doranots  wwwvindootine com
Or1aa BURJIR;
3 BILL OF MATERIALS AND CROSS SECTIONS ate%é@o{[ SERIES V—-600/V—630 WHITE PVC SINGLE AND
OAT -O2] INTEGRAL MULLED OS CASEMENT WINDOWS — LM
4 CROSS SECTIONS, CORNER AND GLAZING DETAILS iami Cantrot ELEVATION, ANCHORING LAYOUT AND NOTES 1
’ . ~, ‘ Y .
5 — 7 | INSTALLATION DETAILS y & DRAWN: DWG NO. Rev | L'i:is Rl AU d s P‘TE
COMPONENTS | TJH 08-01122 A ‘,F.i'é-rid,a,Nq-.\\_szs’f@ .
9 HARDWARE LAYOUT SCME NTS DATE 10/20/10 SHEET1 OF 9 ‘ e

- " )[M’_[ \I‘..\\" -~

Crrepp !



—— 37" MAX. FRAME WIDTH —=

L 30 21/32" MAX.
D.L.O. WIDTH
12 1/2"
6" MAX. MAX. |. i 6" MAX.
0.C. TYP. |
6" MAX.
/ l
S - / |
13" MAX.
0.C. TYP. / 1
76 1/2"
f I MAX.
: SASH
HEIGHT
A 71 21/32" 78"
X MAX, MAX.
D.L.O. FRAME
e HEIGHT HEIGHT
4 \ I
l
1
I\
6" MAX.

35 1/2" MAX. SASH WIDTH
37" MAX. FRAME WIDTH

SERIES V-600 WHITE PVC SINGLE CASEMENT WINDOW

REVISIONS

EXTERIOR VIEW
DESIGN PRESSURE RATING IMPACT RATING
+80.0 PSF LARGE MISSILE
-130.0 PSF IMPACT

Approv: ed as complyiig with the

=14

WinDoor

INCORPORATED

7500 AMSTERDAM DRIVE

ORLANDO, FL 32832

Phone: 407.481.8400
Hax: 407.481,0505

www.windootine.com

REV DESCRIPTION DATE APPROVED
A PER DADE CO. LETTER DATED 1/25/2011 02/14/11 R.L.
96" MAX. MULLED FRAME WIDTH
3" MAX, -~
” -— 3" MAX.
1 A . ” il
6" MAX, — e ' — 6" MAX.
: 3 3
J_ L1 |
6" MAX.
I I
I !
' ’ 62 1/2"
” I MAX.
17 3/8" MAX. O | SASH
0.C. TYP. | | HEIGHT
64"
57 21/32" MAX.
o MAX. FRAME
D.L.0. HEIGHT
HEIGHT
3 | |
I l
'] X I I- |
]
D.L.0. WIDTH 3 3/,,16 MAX. D.LO. W SASH WIDTH
48" MAX. SASH WIDTH
SERIES V-600/V-630 WHITE PVC INTEGRAL MULLED TRIPLE CASEMENT WINDOW
XOX, SHOWN, XXO, OXX, OXO AND XXX ARE APPROVED. INDIVIDUAL OPERABLE SASH IN ALL APPROVED
CONFIGURATIONS SHALL NOT EXCEED 22 1/2" x 62 1/2”
EXTERIOR VIEW
DESIGN PRESSURE RATING IMPACT RATING
+70.0 PSF LARGE MISSILE
-80.0 PSF IMPACT

SERIES V-600/V—-630 WHITE PVC SINGLE AND
INTEGRAL MULLED OS CASEMENT WINDOWS — LMI
ELEVATIONS AND ANCHORING LAYOQUTS

//

( . ‘
§ o ',“J‘ ('('i; .

DWG NO.

08-01122

Liis R. Lomas P.E..

OATE 10/20/10

SHEET2 OF 9

Floride Np. 62514
s g O

R \
('.f( IR e L ‘\ R \\_\\
“’HHHH‘ !



PARTS LIST

NO. | PART NUMBER DESCRIPTION MANUFACTURER MATERIAL

1 1101.214 FRAME, HEAD, SILL AND JAMB VEKA RIGID WHITE PVC

2 |101.214 PANEL FRAME, STILE AND RAIL VEKA RIGID WHITE PVC

3 | FS-05688 FRAME UPPER SCREW RECEIVER KEYMARK ALUMINUM 6063-T6
4 | F5-05689 FRAME LOWER SCREW RECEIVER KEYMARK ALUMINUM 6063-T6
5 | F5~05630 FRAME SCREW BACKER KEYMARK ALUMINUM 6063-T6
6 | FS-05691 TRACK & SNUBBER SCREW RECEIVER| XEYMARK ALUMINUM 6063-T6
7 | FS-05692 VENT INT. SCREW RECEWWVER & REBAR| KEYMARK ALUMINUM 6063-T6
8 | FS--05693 VENT EXTERIOR REBAR KEYMARK ALUMINUM 6063-T6
9 {20008 VENT SNUBBER TRUTH HARDWARE

10 LARGE MISSILE GLAZING

11 | V6OX-AC-13 1 1/8" GLAZING BEAD MOR-X RIGID WHITE PVC
12 12433 MULTI-POINT LOCK AND KEEPER SET| TRUTH HARDWARE

13 | 50.00/50.50 OPERATOR AND BRACKET TRUTH HARDWARE

14 | 14.97.00 SLIDE HINGE TRUTH HARDWARE

15 [AP-425 KERF APTUS VENT BULB SEAL SCHLEGAL PLASTIC

16 1/8" x 1 1/16" x 27 SET BLOCK | FRANK LOWE NEOPRENE D-60
17 #8 x 3/4" FH SELF DRILLING SCREW STAINLESS STEEL
18 #8 x 1/2" FH SELF DRILLING SCREW STAINLESS STEEL
19 #8 x 5/8" FH SELF DRILLING SCREW STAINLESS  STEEL
20 #10 x 1" PH SELF DRILLING SCREW STAINLESS STEEL
21 1/8" THICK PLATE ALUMINUM B063-T6
22 | SIKAFLEX 552 GLAZING COMPOUND SIKA URETHANE

23 SEALANT SILICONE

24 | CA310 T--MULL VEKA RIGID WHITE PVC
25 | FH~05695 T-MULLION REINFORCEMENT KEYMARK ALUMINUM 6063-T6
26 | F5-05696 F-LITE SPACER & SCREW RECEWVER | KEYMARK ALUMINUM 6063-T6
27 #10 x 1 3/4" FH S—DRILLING SCREW STAINLESS STEEL
28 | V6OX~AC~15 F-VENT ATTACHMENT SCREW COVER | MOR-X RIGID WHITE PVC
29 | AC82 FIXED VENT SCREW COVER CAP VEKA RIGID WHITE PVC
30 | FS-05694 F-VENT ATTACH SCREW BACKUP KEYMARK ALUMINUM 6063-T6
31 #10 x 2" FH SELF DRILLING SCREW STAINLESS STEEL
NOTE:

ITEM #21 1S ONLY AT THE MULLION AND IS A SCREW

BACKUP PLATE.

HEAD AND SiLL.

IT DOES NOT RUN FULL LENGTH OF

EXTERIOR

A

AW

VA

\

VERTICAL CROSS SECTION

&P

REVISIONS

DATE
02/14/11

REV DESCRIPTION APPROVED

A PER DADE CO. LETTER DATED 1/25/2011 R.L.

SEE NOTE
SHEET 3

16

L

<o
Kt

i5
5 20
= 29
28
SEE NOTE
SHEET 3

(B \VERTICAL CROSS SECTION
\3/

7500 AMSTERDAM DRIVE
ORLANDO, FL 32832

WinDoot

Phone: 407,481,8400

INCORPORATED o e

www.windootinc.com

4 fA

SERIES V-600/V—-630 WHITE PVYC SINGLE AND
INTEGRAL MULLED OS CASEMENT WINDOWS -~ LMI
BILL OF MATERIALS AND CROSS SECTIONS

\3/

fob (;:'(,,, ‘a

DWG NO.

Luis R.

Lomas PE.
Floru‘jd. Neo. 62514

08-01122

SHEET3 OF 9

DATE 10,/20/10 .



JAMB 3X

INTERIOR

FULL PVC WELD
INTERIOR AND
EXTERIOR FACE
OF CORNER

EXTERIOR
EXTERIOR

SILL

FRAME CONER CONSTRUCTION DETAIL

SASH STILE -\

T-MULL ATTACHMENT DETAIL
HEAD SHOWN, SILL SIMILAR

INTERIOR

FULL PVC WELD
INTERIOR AND
EXTERIOR FACE
OF CORNER

1" 0.A.

3/16" TEMP. | |m-
—] 1/8” HS

060" SGP
BY DUPONT

—H =~ 1/8" HS

EXTERIOR

EXTERIOR A INTERIOR

eI

SASH BOTTOM RAIL

T—MULL REINFORCEMENT

o

SASH CONER CONSTRUCTION DETAIL

Za
E@% 9/16E;'|T(E3LASS J
/

GLAZING DETAIL

INTERIOR

HEAD

INTERIOR

EXTERIOR | '
16@ 15 6)(8) (16) (11) (10

REVISIONS

REV DESCRIPTION DATE APPROVED

A | PER DADE CO. LETTER DATED 1/25/201%| 02/14/11 R.L.

2)3(7)24)(15)(13 26)(29)020;(30H28){27

(D \HORIZONTAL CROSS SECTION
\4/ INTEGRAL MULL OPERABLE TO FIXED

2)(7) (1513

INTERIOR i remioR

C\HORIZONTAL CROSS SECTION 11) (16) (8

EXTERIOR
EXTERIOR

12)( 6

\4/

Approved as complying with the
lorida Buildi 5
o/

iami DZ Pr::a ‘Controt !
H y »

(E"\ HORIZONTAL CROSS SECTION
INTEGRAL MULL OPERABLE TO OPERABLE
SEE LOCKING HARDWARE DETAIL H SHEET 9

7500 AMSTERDAM DRIVE

ORLANDO, FL 32832

Phone: 407.481,8400
Fax: 407.481.0505

WinDoor

INCORPORATED

www.windootinc.com

SERIES V-600/V—-630 WHITE PVC SINGLE AND
INTEGRAL MULLED OS CASEMENT WINDOWS - LMI
CROSS SECTIONS, CORNER AND GLAZING DETAILS

[
f

DRAWN:
TJH

SCALE NTS

OWG NO, REV

08-01122 | E{ér;d-g:’"NbL 82514
SHEET 4 OF 9 DA o g

OATE 10/20/10

Luis R. Léfnas P.E. " [



REVISIONS
REV DESCRIPTION DATE APPROVED
A PER DADE CO. LETTER DATED 1/25/2011 02/t4/11 R.L.
2X BUCK/WOOD FRAMING )
BY OTHERS, 2X BUCK T0Q 3/4” MIN.
BE PROPERLY SECURED EDGE DIST. INTERIOR FINISH
/ BY OTHERS
- 1 .3/8" MIN.
EXTERIOR FINISH e < EMBEDMENT
BY OTHERS | 1 3/8" MIN. 1/4” MAX.
f EMBEDMENT SHIM
[T 1/4” MAX
APPROVED SEALANT / Ve INTERIOR FINISH
8Y OTHERS
| \ /— #10 WOOD SCREW
N 3/4" MIN. INTERIOR
Ei #10 WOOD SCREW EDGE DIST.
EXTERIOR INTERIOR _/ ‘
A I 2X BUCK/WOOD FRAMING
v BY OTHERS, 2X BUCK TO i
N BE PROPERLY SECURED EXTERIOR
APPROVED SEALANT
EXTERIOR FINISH
#10 WOOD SCREW BY OTHERS
|| | HORIZONTAL CROSS SECTION
N 5% 2X BUCK/WOOD FRAMING INSTALLATION
- - OPERABLE SHOWN, FIXED SIMILAR
APPROVED SEALANT
] 1/4” MAX.
g i #SHIM
b1 3/8" MIN
EXTERIOR FINISH
B$ OTFHERS .%  EMBEDMENT
2X BUCK/WOOD FRAMING / 3/4" MIN. ‘\ INTERIOR FINISH
BY OTHERS, 2X BUCK TO EDGE DIST. BY OTHERS W D 7500 AMSTERDAM DRIVE
BE PROPERLY SECURED INLJ)OOLr  GruaNDO, 132832
VERTICAL CROSS SECTION Approved as complying with the INCORPORATED [ Wiies”  wwwawindoosine.com

2X BUCKWOOD FRAMING INSTALLATION lorida Buildigg ;
SERIES V—600/V—630 WHITE PVC SINGLE AND
OPERABLE SHOWN, FIXED SIMILAR AT 23, INTEGRAL MULLED OS CASEMENT WINDOWS — LMI

INSTALLATION DETAILS ‘
ot r‘( i :

" Luis R, Lofmas P.E.
© Floridd, INo.l 62514

I
. Y

DWG NO.

("_

08-01122
DATE 10/20/10 SHEETS OF 9




REVISIONS

REV DESCRIPTION DATE APPROVED
2 5/8" MIN. A | PER DADE CO. LETTER DATED 1/25/2011 | 02/14/11 R.L.
EDGE DIST.
OPTIONAL 1X BUCK BY
OTHERS, 1X BUCK TO |
BE PROPERLY SECURED.
SEE NOTE 3 SHEET 1 ;
1 1/4" MIN.
EMBEDMENT
MASONRY/CONCRETE '
BY OTHERS | 1 1/4” MIN. L /47 MaX,
= EMBEDMENT SHIM
1/47 MAX. _f
APPROVED SEALANT
f BT /— 3/16" ITW TAPCON
2 5/8" MIN. R
EDGE DIST. . INTERIOR
™~ 3/16” TW TAPCON '

MASONRY/CONCRETE
EXTERIOR INTERIOR o O I
A OPTIONAL 1X BUCK BY
N OTHERS, iX BUCK TO EXTERIOR

BE PROPERLY SECURED.
SEE WOTE 3 SHEET 1

APPROVED SEALANT

HORIZONTAL CROSS SECTION
3/16" ITW TAPCON MASONRY/CONCRETE INSTALLATION
OPERABLE SHOWN, FIXED SIMILAR

APPROVED SEALANT

MASONRY /CONCRETE
BY OTHERS \

11 1/47 MIN
~ |\ EMBEDMENT

OPTIONAL 1X BUCK BY —]:-° . .- -~

il : A " 7500 AMSTERDAM DRIVE
BEOBQ%T;SE’RE\? SBEUCCUKRETS)_ ? ) WinDoor ORLANDO, FL 32832
SEE NOTE 3 SHEET 1 2 5/8" MIN. INCORPORATED gﬂ%ﬁéﬂ%ﬁs‘m www.windoorsinc.com
EDGE DIST. Approved as complying with the
VERTICAL CROSS SECTION Florida Buildjng Code SERIES V~600/V—630 WHITE PVC SINGLE AND
MASONRY/CONCRETE INSTALLATION '”05 INTEGRAL MULLED 0S CASEMENT WINDOWS — LMI

OPERABLE SHOWN, FIXED SIMILAR Miami Dage Py _Contr;i INSTALLATION DETAILS " Y L
SZ; - BV SRR T

. DWG NO. RY ; :

Luis R. Lomas P.E.(VR

08-01122 Fiorida: WNol| 6251

DATE 10/20/10 SHEET g OF 9 o SR AITT .

et K

A ¢ ) N
. l'.f.‘Jin:p \\"\t("\
iy e W
J"""IH(HETH‘\\‘



- 3/47 MIN. INTERIOR FINISH
2X BACKED 20GA. (.036") MIN,
STEEL FRAMING 8Y OTHERS EDGE DIST. / BY OTHERS
r o *
NY . \
1 .3/8” MIN.
EXTERIOR FINISH EMBEDMENT

BY OTHERS

APPROVED SEALANT /

EXTERIOR

L

DE_'_I

»

LT ﬁ;t/ci" MAX.

?

SHIM

S #10 WOOD SCREW

INTERIOR

1 3/8” MIN.

REVISIONS

REV

DESCRIPTION

DATE APPROVED

PER DADE CO. LETTER DATED 1,/25/2011

02/14/11 | RL

EMBEDMENT

INTERIOR FINISH
BY OTHERS‘\} R

1/4" MAX.
SHIM

/— #10 WOOD SCREW

3/4” MIN.
EDGE DIST.

2X BACKED 20GA. (.036") MIN.
STEEL FRAMING BY OTHERS

INTERIOR

EXTERIOR

APPROVED SEALANT

EXTERIOR FINISH
By OTHERS

APPROVED SEALANT

L] [; _§ S”HIM

#10 WOOD SCREW

1/4" MAX.

i

HORIZONTAL CROSS SECTION
2X BACKED STEEL STUD FRAMING INSTALLATION
OPERABLE SHOWN, FIXED SIMILAR

7500 AMSTERDAM DRIVE

11 3/8" MIN
N 3
EXTEREQRO%E'% |.:°|  EMBEDMENT
2X BACKED 20GA. (.036") MIN. 3/4" MiN. \ INTERIOR FINISH
STEEL FRAMING BY OTHERS EDGE DIST. BY OTHERS
VERTICAL CROSS SECTION

2X BACKED STEEL STUD FRAMING INSTALLATION
OPERABLE SHOWN, FIXED SIMILAR

Approved as complying with the

Florida Building Code
NOA# i é é ; ﬂ 33

By

WinDoor

ORLANDO, FL 32832

Phone; 407,481.8400

INCORPORATED Fax: 407.481.0505

www.windootinc.com

SERIES V—-600/V-630 WHITE PVC SINGLE AND

INTEGRAL MULLED OS CASEMENT WINDOWS - LMI
INSTALLATION DETAILS

DWG NO.
08-01122

DATE 10/20/10  [SHEET7 OF 9

-
//g’//:‘ (u'

Ve TR 'g
Luls R. Lor‘nus P E.:
F'lorldu Nm | 6251 4 N

l'({_ B !

e

\\

.

}
o

Pt

M

r’ '.‘ P



rlj
2 25/64”

S=sml

NFRAME, HEAD, SILL AND JAMB
EXTRUDED RIGID WHITE PVC .071" THICK

. 2 7/16

2 27/64

4 J

2WPANEL FRAME, STILE AND RAIL
EXTRUDED RIGID WHITE PVC .075" THICK

I——- 4 1/32" _—’
e —— <«
[ £
2 53/64"
£3

&
| |t 237647

1 35/64"

(29 T-MULL
EXTRUDED RIGID WHITE PVC .078" THICK

i

1 19/32:L

e T@ﬂ .

SO\FIXED VENT ATTACHMENT

SCREW COVER
EXTRUDED RIGID WHITE PVC .060" THICK

i

1 1/8" H_E 13/64"
Mr

OFRAME UPPER SCREW RECEIVER

EXTRUDED ALUMINUM 6063-T6 .075" THICK

1 |~*—|> 53/64"

41/64" © E

T

YFRAME LOWER SCREW RECEIVER

EXTRUDED ALUMINUM 6063-T6 .065" THICK

SO\FIXED VENT SCREW

COVER CAP
EXTRUDED RIGID WHITE PVC .050" THICK

9/16” ——|m}..—

(5)FRAME SCREW BACKER
EXTRUDED ALUMINUM 6063-T6 .058" THICK

ot e — 2" —_—
vy
13/16"
i (O%%—i—

1 1/4"

r@@—L

| N\ 3X 2036 DRILL THRU
WITH .375¢ C'SINK

- 25/64"

i 7/32"

@ 1/8" PLATE
EXTRUDED ALUMINUM 6063-T6 .125" THICK

Approved as complying with the

PERe,

Flonda Ryj
Date €.
NOA#

Miami DadgPro Controt
By E@

REVISIONS

REV

DESCRIPTION DATE

APPROVED

A | PER DADE CO. LETTER DATED 1/25/2011%

02/14/11 | R.L.

VENT EXTERIOR REBAR
EXTRUDED ALUMINUM 6063-T6 .102" THICK

43/64”

1/2" ‘mﬁj’

6 TRACK AND SNUBBER

SCREW RECEIVER
EXTRUDED ALUMINUM 6063-T6 .070" THICK

1 23/64"

1

@ T-MULLION REINFORCEMENT
EXTRUDED ALUMINUM 6063-T6 .25" THICK

4

7/8"

1132

(101 1/8" GLAZING BEAD
EXTRUDED RIGID WHITE PVC .039" THICK

WinDoor

INCORPORATED

NVENT INTERIOR SCREW

RECEIVER AND REBAR
EXTRUDED ALUMINUM 6063-T6 .075" THICK

1/4" (REF) —‘ t |
16/32" (REF) 1

(15 KERF APTUS

VENT BULB SEAL
PLASTIC

_LI‘—+1 7/64"
15/64" ]_f'—”l" 13/84"
so\FIXED VENT ATTACHMENT

SCREW BACKUP
EXTRUDED ALUMINUM 6063-T6 .050" THICK

FIXED LITE SPACER

AND SCREW RECEIVER
EXTRUDED ALUMINUM 6063-T6 .090" THICK

7500 AMSTERDAM DRIVE
ORLANDO, FL 32832

Photte: 407.4B1.3400

Fax: 407.481.0505 www.windootinc.com

SERIES V—-600/V—-630 WHITE PVC SINGLE AND
INTEGRAL MULLED OS CASEMENT WINDOWS - LMl §
COMPONENTS 4.

DWG NQ.

08-01122

Lbrﬁ ds R.E.
FLfcarldu NQ \62514

DATE 10 /20 /10

e



REVISIONS

REVY DESCRIPTION DATE APPROVED
A | PER DADE CO. LETTER DATED 1/25/2011| 02/14/11 |R.L.
i MINMUM FRAME HEIGHT -
TIE BAR LENGTH
_"—-F 2.680 TYP o G
o —— 11000 [1.00) TYP 2] E}—\
ﬂ R—l_ j 5
mg Eﬁ;iﬁk-J v H !; 111 { = 41:? g%
T L e e o I B 1A el Ry L s i
i ) L L)
i | P . t it
il — \ . - —] !
POINT =]

{
A L FIRST
I&RigNG 375 TYP e LSECOND LOCKING
POINT L l_‘ LOCKING — = —— 250 win
250 WiN.—— |+ — - ‘ {80TT0M)
4.500 TYP - OF LOCK
1 ] L] 13
o B” A A A A
——/\/— C 10.200 [10.96] 14.897 [11.80) 2,437 [244]— —~
TO FOURTH KEEPER
1" » M
- B" A& AN A ,
C 10.900 {10.90] 11.897 [17.80} 4,562 [4.58) ———
0

o e JAMB HARDWARE LAYOUT SRR

"4
B %9
<7 e

& 6.654

o s e 812 [0.81] - 4,250

513 TYP
4% R.220 [RO.22)

914 m_——

d

S — oo o Ko vk wug- — -
f P o
! i [— ; N % i
78527 [ 1309892 Je pT. T 13.60 | 1413 | 13.00 | 1300 | 13.00 — [Sprnirspting BRI R
75.52° | 12027.02 |4 PT. ) 2390 | 2200 | 20.00 GD::::JP
7152" [ 1309792 |6 PT | 7 | 1590 | 1590 | 1580 | 163 =2
74.52" | 12026.92 |4 PT. ) 2190 | 2090 | 20.00 012 TYp-
i 440 REF - NOTES:
6752 | 130062 |5 pr. | 07| 1190 15,00 | 1466 | 1660 541 TrP OTES: o CATED DMENSIONS 1 CRITCAL LOCKING HARDWARE DETAIL H
" : AGCU OF INDICATED DIMEN i5 CRIFI
67.62" | 1292502 |4 PT. 19.90 | 1890 [ 20,00 =] —1.663 REF - O THE FUNCTION OF THE MULTI—POINT LOCK.
1309592 13 FT. 1769 | 17.08 | 1978 2, "g" PIMENSION FOR THE FOURTH LOCKING POINT,
. | 1192292 |3 PT. 27.90 | 26.90 seeon | —F seeton G—G FOR KEEPER AND TIE GAR GUIOE PLACEMENF, DIMENSION “C”
63.52" Migizaz 12 PT. | %% [ sse0 ORIGINATES AT THE THIRD LOCKING PGINT.
1 X 3 PT. 56, i8.7 3. "A” AND "B” DIMENSIONS ARE CONFIGURED TO GIVE
209402 15.69 } 16.00 | 1875 SEQUENTIAL AND PROGRESSVE LOCKING OF 12" TOTAL
sospr | 192192 [ Pl 2590 | 24.90 SIARTING Wi The, FIRSTIBOTTOM)LOCKING P Wit
% Ireries (200 **°  [Tsoee PROGRESSION OF 1 KNG POINT TO
ot ' PSR 0 st R0 AT T B oo
13093.92 | 4 PT. ] 16.06 | 16.7
1289 2 LOCKING POINF MOVES I TANDEM WITH THE THIRD LOCKING
sogge |L182002 [SPL Y 2390 | 22.90 POINT.
1191092 | 2 Pi. 46,50 4. TIE BAR TRAVEL IS 1.82"
11g12.92 |3 PT. . 20.90
5157 1309 oz T2 88 i; :g 5. ALL DIMENSIONS ARE AFTER WELD.
y 6. MOUNTING SCREWS FOR ALL HARDWARE SHOULD PASS THROUGH
4750 181862 13 PT. | oo |12:90 [ 1890 TWO PVC WALLS OR A SNGLE WALL WITH AN INTERIOR METAL
11908.92 | 2 PT. ) 38.80 : INSERT,
A3.52" 11817.92 | 3 PT. 360 17.90 | 16.90 } 7. SEE TRUTH HARDWARE CATALOG FOR FURTHER INFO ON APP-—
: Tiso792 |2 FT. . 34.80 ; LICATION OF ALL COWPQONENTS.
. |1191692 |3 PL. 15.90 | 14.90
30.52 s4.9 — | 19228 8 [} 12 | SCREW 8X3/4 PH FH SMS 55410 (KEEPER) .
¥ 2 PT, . TERD VE
::g?: :z T ?g gg T -~ | 1023002 4 3 8 | scReEw 8xt PH PH SMS YZP (TBG) [ \X /lnDoor 7500 AMS ?gdggm
352" Hiaoses V2P| 0O 26'50 - | 1920892 2 2 2 SCREW 10-24X9/18 F PH PH MS YZ(LOCK) ORLANDO, FL 328
. : T ) Phane: 407.481.8400 A .
252" 1191492 | 3 PT. 6.0 11.90 10.90 5 SEE CHART ] 1 1 TIE BAR ASSEMBLY Approvcd'a, mmglying willt e INCORPORATED Fax: 407.481,0505 www, windoarinc.com
1190482 |2 PT. 2280 4 (39832000500 | 2 3 4 | KEEPER, NON-HANDED SST Flosi JaB & s
22;‘:“2" :::gg‘:: z :I' ";28'2 18.80 3 |ss2e3000001 | 2 3 [ a [ s ouiee Daie © }’ SERIES V-600/V—-630 WHITE PVC SINGLE AND
3 i . 3 14.80
3 21600.92 \ 1 1| SUPPORT PLATE -
R s L B 2 INTEGRAL MULLED OS CASEMENT WINDOWS - LMi
MNBN | oot o, o0 | TE Baw [© RW @ Q0 [<7 OF o7 O € T Vo 2433X%004 | W ! T | 1LOCK ASSEMBLY HARDWARE LAYOUT
FRAME. J QOCK,
LENGTH |ae [4Fmn
ke B FANE VAN me | PART NO. |2 DESCRIPTION
INTERLOCK ROLLER TIE BAR ASSEMBLY arY ! DWG NO.

08-01122
DNE 10,/20/10  [SETg OF 9




